

Feb 19-8:47 AM

Class QZ 1
Find the equation of the tangent line to the
graph
$$f(x)=e^{x}$$
 at $x=0$. Final answer in
 $f(x)=e^{x}$ at $x=0$. Final answer in
 $f(x)=e^{x}$ at $x=0$. Final answer in
 $f(x)=e^{x}$ $f(x)=e^{x}$
 $g(x)=e^{x}$ $f(x)=e^{x}$
 $g(x)=e^{x}$
 $g(x)=e^{x}$
 $g(x)=e^{x}$
 $g(x)=e^{x}$
 $g(x)=e^{x}$
 $g(x)=e^{x}$ $g(x)=1$
 $g(x)=1$ $g(x)=1$
 $g(x)=1$ $g(x)=1$
 $g(x)=1$ $g(x)=1$
 $g(x)=1$ $g(x)=1$
 $g(x)=1$ $g(x)=1$
 $g(x)=e^{x}$ is cont. everywhere
 $g(x)=e^{x}$ is cont. everywhere
 $g(x)=e^{x}$ $g(x)$ is increasing $g(x)$ is cont.
 $g(x)=e^{x}$ $g(x)$ $g(x)$ is increasing $g(x)$ $g(x)$ is
 $g(x)=e^{x}$ $g(x)$ $g(x)$ is increasing $g(x)$ $g(x)$

$$e = \lim_{h \to 0} \frac{e^{h} - 1}{h}, \quad \frac{d}{dx} [e^{x}] = e^{x}, \quad \int e^{x} dx = e^{x} + C$$

$$\lim_{h \to 0} \frac{dy}{dx} \quad \text{Sor} \quad y = Cot(e^{2x} - 2).$$

$$\frac{dy}{dx} = -Csc^{2}(e^{2x} - 2) \cdot [e^{2x} \cdot 2 - 0]$$

$$\frac{dy}{dx} = -2e^{2x}(csc^{2}(e^{2x} - 2))$$

$$\lim_{h \to 1^{-1}} \frac{dy}{dx} = -2e^{2x}(csc^{2}(e^{2x} - 2))$$

$$\lim_{h \to 1^{-1}} \frac{dy}{dx} = e^{3x} dx$$

$$= \int (csc^{2}u \frac{du}{dx} = \frac{1}{3}\int (csc^{2}u du \frac{du}{dx} = e^{3x} dx)$$

$$= -\frac{1}{3}cotu + C$$

$$= \left[-\frac{1}{3}cote^{3x} + C\right]$$

Г

Find the area below
$$f(x) = x e^{x^2}$$
, above
the x-axis, from $x=1$ to $x=2$.
Draw, Shade, give Ref. Rect.
 $f(x) \ge 0$ on $[1,2]$
 $A = \int_{1}^{2} x e^{x^2} dx$ $u = x^2$
 $u = x^2 dx$ Δx
 $\int_{1}^{4} e^{x} du$
 $\int_{2}^{4} e^{x} du$
 $\int_{2}^{4} e^{x} dx$ $\chi = 1$ $u = 1$
 $\chi = 2$ $u = y$
 $= \frac{1}{2} e^{u} \Big|_{1}^{4} = \frac{1}{2} \Big[e^{4} - e^{1} \Big] = \Big[\frac{e^{4} - e}{2} \Big]$

Rotate the region Srom Last example about x-axis, find its volume. Res. Rect. L to A.O.R. Res. Rect. L to A.O.R. $1 \int_{X_{2}}^{2} S(x) = xe^{x^{2}} \operatorname{Region} \operatorname{is} \operatorname{isoj} \operatorname{attached}$ to A.O.R. $V = \int_{1}^{2} \pi [R]^{2} Jx = \pi \int_{1}^{2} [xe^{x^{2}}]^{2} Jx = \pi \int_{1}^{2} xe^{2e^{x^{2}}} Jx$ Suppose $f(x) = Jx e^{x^{2}}$ $V = \int_{1}^{2} \pi (Jx e^{x^{2}}) Jx = x \int_{1}^{2} xe^{2e^{x^{2}}} Jx$ $V = \int_{1}^{2} \pi (Jx e^{x^{2}}) Jx = x^{2}$ $V = \int_{1}^{2} \pi (Jx e^{2e^{x^{2}}}) Jx = x^{2}$ $V = \int_{1}^{2} \pi (Jx e^{2e^{x^{2}}}) Jx = x^{2}$ $V = \int_{1}^{2} \pi (Jx e^{2e^{x^{2}}}) Jx = \pi \int_{2}^{2} e^{4x} Jx$ $V = \int_{1}^{2} \pi (Jx e^{2e^{x^{2}}}) Jx = \pi \int_{2}^{2} e^{4x} Jx$ $U = 2x^{2} = \pi \int_{2}^{2} e^{4x} Jx = \pi \int_{2}^{2} e^{4x} Jx$ $Jx = 2x^{2} = \pi \int_{2}^{2} e^{4x} Jx = \pi \int_{2}^{2} e^{4x} Jx$ $Jx = 2x^{2} = \pi \int_{2}^{2} e^{4x} Jx = \pi \int_{2}^{2} e^{4x} Jx$ $Jx = \pi Jx Jx = \pi \int_{2}^{2} e^{4x} Jx = \pi \int_{2}^{2} e^{4x} Jx$ Res. Rect. 1 to A.O.R.

June 11, 2024

$$\begin{aligned} & \text{find } \frac{dy}{dx} \quad \text{for } y = \text{Sin}(e^{x}) + e^{\text{Sin}x} \\ & y' = \cos(e^{x}) \cdot e^{x} + e^{\sin x} \cdot \cos x \\ \end{aligned}$$

$$\begin{aligned} & \text{Evoluate } \int (e^{x} + e^{-x})^{2} dx \quad x^{-n} = \frac{1}{x^{n}} \\ & (A + B)^{2} = A^{2} + 2AB + B^{2} \\ & = \int \left[(e^{x})^{2} + 2(e^{x})(e^{x}) + (e^{-x})^{2} \right] dx \quad (x^{-n})^{n} = x^{-n} \\ & = \int \left[e^{2x} + 2 + e^{-2x} \right] dx \\ & = \int e^{2x} dx + \int 2 dx + \int e^{-2x} dx \\ & = \int e^{2x} dx + \int 2 dx + \int e^{-2x} dx \\ & = \frac{1}{2}e^{2x} + 2x - \frac{1}{2}e^{-2x} + C \\ & \text{How do we verify this?} \\ & \frac{d}{dx} \left[\frac{1}{2}e^{2x} + 2x - \frac{1}{2}e^{-2x} + C \right] = \frac{1}{2} \cdot e^{2x} \cdot 2 + 2 \cdot \frac{1}{2}e^{-x} \cdot 2 \\ & = e^{2x} + 2 + e^{-2x} \left[e^{2x} + 2x - \frac{1}{2}e^{-2x} + C \right] \end{aligned}$$

Logarithmic Functions:

$$\log x = y \Rightarrow \alpha^{y} = x$$

 $\alpha > 0, \alpha \neq 1$
 $x > 0$
 $\log x = y \Rightarrow 3^{y} = x$
 $\log_{3}^{x} = y \Rightarrow 3^{y} = x$
Notural $\log -p$ base = $e \rightarrow \log x = \ln x$
Common $\log \rightarrow base = 10 \rightarrow \log x = \log x$

Suppose
$$f(x) = \ln x$$

Find $f'(x)$.
Let $y = f(x)$
 $d_x [e^y] = d_x [x]$
 $e^y \cdot d_x = 1$
 $d_y = \frac{1}{e^y} = \frac{1}{x}$
 $d_y = \frac{1}{e^y} = \frac{1}{x}$
 $d_y = \frac{1}{e^y} = \frac{1}{x}$
 $d_y = \ln x + C$
 $\int \frac{1}{x} dx = \ln x + C$, xoo
 $x > 0$

Sind
$$\frac{dv}{dx}$$

1) $y = x \ln x + e^{\sqrt{x}}$
Product
Bule
 $y' = 1 \cdot \ln x + x \cdot \frac{1}{x} + e^{\sqrt{x}} \cdot \frac{1}{2} x^{2-1}$
 $y' = 1 \ln x + 1 + \frac{e^{\sqrt{x}}}{2\sqrt{x}}$

2)
$$y = \frac{1}{\ln x^2}$$

 $y = \frac{1}{2 \ln x}$
 $y = \frac{1}{2 \ln x}$
 $y = \frac{1}{2} (\ln x)^{\frac{1}{2}}$
 $\frac{1}{x} = x^{-1}$
 $\frac{1}{x} = x^{-1}$
 $\frac{1}{x} = \frac{1}{2} \cdot 1 \cdot (\ln x) \cdot \frac{1}{x}$
 $\frac{1}{2x} = \frac{-1}{2x (\ln x)^2}$

find
$$f'(x)$$
 if $f(x) = \frac{x}{1 + \ln x}$
 $f'(x) = \frac{d}{dx}[x] \cdot (1 + \ln x) - x \cdot dx[1 + \ln x]$
 $[1 + \ln x]^2$
 $= \frac{1(1 + \ln x) - x \cdot \frac{1}{x}}{[1 + \ln x]^2} \cdot \frac{\ln x}{[1 + \ln x]^2}$
 $f'(x) = \frac{4\pi 1^{00}}{[1 + \ln x]^2} = \frac{0}{1} = 0$

Evaluate
$$\int_{1}^{4} \frac{2}{x} dx = 2 \int_{1}^{4} \frac{1}{x} dx$$
$$= 2 \cdot \ln x \int_{1}^{4} = 2 (\ln 4 - \ln 1)$$
$$= 2 \ln 4$$

$$\begin{aligned} \text{Sind } f'(x) \text{ for } f(x) = \ln \left[\begin{array}{c} \chi + \sqrt{\chi^2 - 1} \end{array} \right] \\ \text{Recall} \\ f'(x) = \frac{1}{\chi + \sqrt{\chi^2 - 1}} \cdot \left[1 + \frac{\chi}{\sqrt{\chi^2 - 1}} \right] \\ \frac{1}{\chi} \cdot \left[\ln \chi \right] = \frac{1}{\chi} \cdot \left[\frac{1}{\chi} \cdot \frac{\chi}{\sqrt{\chi^2 - 1}} \right] \\ \frac{1}{\chi} \cdot \left[\frac{1}{\chi} \cdot \frac{\chi}{\sqrt{\chi^2 - 1}} \right] \\ \frac{1}{\chi} \cdot \left[\frac{1}{\chi} \cdot \frac{\chi}{\sqrt{\chi^2 - 1}} \right] \\ \frac{1}{\chi} \cdot \left[\frac{1}{\chi} \cdot \frac{\chi}{\sqrt{\chi^2 - 1}} \right] \\ \frac{1}{\chi} \left[\frac{1}{\chi^2 - 1} \right] \\ \frac{1}{\chi} \left[\frac{1}{\chi} \left[\frac{1}{\chi^2 - 1} \right] \\ \frac{1}{\chi} \left[\frac{1}{\chi^2 - 1} \right] \\ \frac{1}{\chi} \left[\frac{1}{\chi^2 - 1} \right] \\ \frac{1}{\chi} \left[\frac{1$$

Evoluate
$$\int_{1}^{4} \left(\sqrt{x} + \frac{1}{\sqrt{x}} \right)^{2} dx$$
 Use
 $\int_{1}^{4} \left[\chi + 2 \sqrt{x} \cdot \frac{1}{\sqrt{x}} + \frac{1}{\sqrt{x}} \right] dx$
 $= \left(\frac{\chi^{2}}{2} + 2\chi + \ln \chi \right) \Big|_{1}^{4}$
 $= \left(8 + 8 + \ln 4 \right) - \left(\frac{1}{2} + 2 + \ln 1 \right)$
 $= \left(14 + \ln 4 - \frac{1}{2} \right) = \left(13.5 + \ln 4 \right)$

find equation of tax. line to the
graph of
$$f(x) = \ln(x^2 - 3x + 1)$$
 at $x = 3$.

 $m = f'(3)$ $\frac{d}{dx} [\ln n] =$
 $(3, 0)$ $f'(x) = \frac{1}{x^2 - 3x + 1} \cdot \frac{du}{dx}$
 $f'(x) = \frac{1}{x^2 - 3x + 1} \cdot \frac{du}{dx}$
 $3 - 3 = m(x - x)$ $f'(3) = \frac{2(3) - 3}{3^2 - 3(3) + 1} = \frac{3}{1}$
 $J = 3x - 9$

Sind the Volume is the region bounded

$$f(x) = \frac{1}{\sqrt{2+1}}, \quad x-axis, \quad y-axis, \quad and \quad x=3$$
is rotated about $x-axis$. Drawing Required.

$$f(x) > 0 \qquad (a,b) \qquad x-axis. \quad Drawing Required.$$

$$f(x) > 0 \qquad (a,b) \qquad x-axis. \quad Drawing Required.$$

$$f(x) > 0 \qquad (a,b) \qquad x-axis. \quad Drawing Required.$$

$$f(x) > 0 \qquad (a,b) \qquad x-axis. \quad Drawing Required.$$

$$f(x) > 0 \qquad (a,b) \qquad x-axis. \quad Drawing Required.$$

$$f(x) > 0 \qquad (a,b) \qquad x-axis. \quad Drawing Required.$$

$$f(x) > 0 \qquad (a,b) \qquad x-axis. \quad Drawing Required.$$

$$f(x) > 0 \qquad (a,b) \qquad x-axis. \quad Drawing Required.$$

$$f(x) > 0 \qquad (a,b) \qquad x-axis. \quad Drawing Required.$$

$$f(x) > 0 \qquad (a,b) \qquad x-axis. \quad Drawing Required.$$

$$f(x) > 0 \qquad (a,b) \qquad x-axis. \quad Drawing Required.$$

$$f(x) > 0 \qquad (a,b) \qquad x-axis. \quad Drawing Required.$$

$$f(x) > 0 \qquad (a,b) \qquad x-axis. \quad Drawing Required.$$

$$f(x) > 0 \qquad (a,b) \qquad x-axis. \quad Drawing Required.$$

$$f(x) > 0 \qquad (a,b) \qquad x-axis. \quad Drawing Required.$$

$$f(x) > 0 \qquad (a,b) \qquad x-axis. \quad Drawing Required.$$

$$f(x) > 0 \qquad (a,b) \qquad x-axis. \quad Drawing Required.$$

$$f(x) > 0 \qquad (a,b) \qquad x-axis. \quad Drawing Required.$$

$$f(x) = f(x) \qquad x-axis. \quad Drawing Required.$$

$$f(x) = f(x$$

$$\begin{aligned} \int \sin d \frac{dy}{dx} & i \quad f \quad f = \int \left(\frac{z^2 + y^2}{x^2 + y^2} \right) \\ & \quad \frac{dy}{dx} = \frac{1}{x^2 + y^2} \cdot \left(2x + 2y \cdot \frac{dy}{dx} \right) \\ \left(x^2 + y^2 \right) \frac{dy}{dx} = 2x + 2y \quad \frac{dy}{dx} \\ \left(x^2 + y^2 \right) \frac{dy}{dx} - 2y \quad \frac{dy}{dx} = 2x \\ & \quad \frac{dy}{dx} = 2x \\ & \quad \frac{dy}{dx} = \frac{2x}{x^2 + y^2 - 2y} \end{aligned}$$

Consider the region bounded by

$$y = \frac{1}{x^2 + 1}$$
, $x = 0$, $y = 0$, and $x = 1$.
Rotate about Y-axis,
find the Volume.
Shell $1 = \int_{0}^{2} \pi(x)(\frac{1}{x^2+1}) dx$
 $y = \int_{0}^{2} \pi(x)(\frac{1}{x^2+1}) dx$
 $y = 2x dx$
 $= \pi \int_{1}^{2} \frac{1}{x} dx = \pi \ln u \Big|_{1}^{2} = [$

Sind
$$\frac{dy}{dx}$$
 if $y = ln(Sec x + tan x)$
 $\frac{dy}{dx} = \frac{1}{Sec x + tan x} \cdot (Sec x tan x + Sec^2 x) = \frac{dx}{dx} [ln x] = \frac{1}{N} \cdot \frac{dy}{dx}$
 $= \frac{Sec x (tan x + Sec x)}{Sec x + tan x} = [Sec x]$
 $\int Sec x dx = ln(Sec x + tan x) + C$

Evaluate
$$\int_{1}^{e} \frac{\sin(\pi x)}{x} dx$$
 Hint:
Let $u = \ln x$
 $du = \frac{1}{x} dx$
 $= \int_{0}^{1} \sin u du = -\cos u \Big|_{0}^{1}$
 $= -\left[\cos 1 - \cos 0\right]$
 $= -\cos 1 + 1 = \left[1 - \cos 1\right]$
Radian

Looking Ahead
Jind Y if
$$\frac{dy}{dx} = xe^{-y}$$
 Equation
 $\frac{dy}{dx} = \frac{x}{e^{y}}$, $e^{y} dy = x dx$
 $\int e^{y} dy = \int x dx$
 $e^{y} = \frac{x^{2}}{2} + C$
Isolate Y $\rightarrow \ln e^{y} = \ln \left[\frac{x^{2}}{2} + C\right]$
 $y lxe^{-1} = \ln \left(\frac{x^{2}}{2} + C\right)$
 $y lxe^{-1} = \ln \left(\frac{x^{2}}{2} + C\right)$